ot 1Fo) 4 AB = AC = AD, /ABC = 30° & o, zx + 2y 9
A7]E oozt

A

o Y
BSO

@wee @ 1600 @100 @ 18° O 190°

S8 ‘
AB = AC = AD o|B & HI¥Ho] Z79o] H
CIEIC =

AB = AC |22 AABC £ o|5HAMZHY

.. LACB = £ABC = 30°

A7+ o] Qlzto] Ao 95 /DAC = /ACB + /ABC =
30° + 30° = 60°

L Ix=60°---O

CA=AD o2&

AACD = oleH4dZs

2. ZACD = /CDA =60° (- @)

Al Wztel 2717t om g 47+ ACD & Z4zrgolrt.
/DCB = /ACD + £/ACB = 60° + 30° = 90°

(DCE = 90° °]t}.

S 2y=90°---©

@, ©° &84 zx + 2y = 60° + 90° = 150°

ojx
>
rlr
N,
N
N
at
N
N
ol
1o




@ 3 ® 4 @)5 ® 6

D 2

1719 ABC 9] 9JAlo|ln g
MC ©]tt.

M2 A4
MA = MB = MC

el

~MC=5




@® 5cm @mcm ® 15cm B< M .-

@ 20cm ® 25cm

AME oAolEZ2 AM =BM = CM = 5cm
. BC=2x5=10 (cm)




4. o3 O"ETZ2 ol 5HAZY ABC oA A 192 0 &= 212 aABC
o] AlF} Q] Aot /BAO = 20° ¥ o, /BIC - /BOC 2] 27]=9

202/

@300 @ 40° ® 50° @ 60° ® 70°

AABC 9] eJAlo] H O ¢ o, %ZBOC = /A /A = 40° °]BEZ
/ABC = 70° , /BOC = 80° o]t}.

AABC 9] YAlo]l F 1 ¢ uff, %AA+90° = /BIC o]|B&2

/BIC = % X 40° + 90° = 110° o]t}

whebA] /BIC — /BOC = 110° — 80° = 30° ©]t}.




5.

thS 13 9] AABC = AB = AC ¢l o] 5 Az o]t} AABC 9
IA T Aol 22 - O, T o]a, A =30° & W, zx o] 27|=?

D 15 @22.5 ® 25 @ 275 ® 30

AABC 9] 9]4]o] H O ¢ of,
%zBOC = /A, /A =30° o] B &

LABC =T75°, /BOC = 60° °]t}.
AABC o] iAol A T < o,

%AA +90° = /BIC °|E=&
1
/BIC = 5 x 30° + 90° = 105° ©]t}.
AOBC & o]|5HAZIgolB 2 /OBC = 60° ©|t},

T, /IBC= -/ABC = % x 75° = 37.5° o|t},

N | =

mrehA] LOBI = £OBC - /ABC = 60° — 37.5° = 22.5° o|t},




6.

o2 2T 2ol /B =90° 9 442 ABC o4 H 0,1 ZH2+
QA YAlolt}h, /A =70° Y uf, 1x O] F7]=?

@® 120° @ 130° ® 140° C@)150O ® 160°

1
/ACB =90°-70°=20° °|E& /ICB = EZC =10°

AOBC 9|4 OB = OC ©|2& /OBC = /OCB = 20°
wekA APBC o4 zx = /BPC = 180° - (10° + 20°) = 150°
o|ch.




7. & IFA AD=BD=CD °]Z B=40° < o, zx &] 27]?

@© 40° @ 45° (@)500 @ 55° ® 60°

&8 ~

(B = /BAD = 40° 0|2
(ADC = 40° + 40° = 80°

1
. Lx = 5 (180° - 80°) = 50°




8. o2 agi 74L& AAZte ABCD ©| A BE = DE , /BDE = /CDE
A off, zx o] 27]=7

A D

®1e @50 @ @ O e

B ~

/BDE = /a 2}l 5}'H /BDE = /CDE = za ©]3l, /x = 2/a
ACDE 9] WjZt9] 32 o]-gstH
180° = £CDE + «DEC + /ECD

= /la+ 2/a + 90°

= 3Za + 90°




ot 293 2ol AB = AC <l AABC oA A
ol o, /BDC ©] 27]=2?

o

/68

@46° @ 48° ® 50° @ 52° © 54°

B |

AABC £ °olsRAdAgolER
/BAC = 180° — 2 x 68° = 44°
AADC °f|A

/BDC = 180° — (44° +90°) = 46°




10. o3 2 22 A 7a7He ABC oA HIW AC 9] -2 M o]1L
(ACB = 36° ¢ T LZAMB ¢] 27]=?

A

36 C

© 62° @ 64° ® 68° @7 Q)

BM.--O
W2k aBMC & o] 57 o]

/MCB = /MBC = 36°

/AMB = /MCB + /MBC = 36° + 36° = 72°




11. AABC oA /B ¢} ,C 9] A27]9] H]=2: 30|11, AD =BD = C
7} EEE X D E AU u, BAD ©] 27]E0

@ 30° @ 32° ® 34° @)36° ® 38°

B ‘

91 1ol AD = BD = CD ¢|2& 3 D & 2J4le]t}.
AABD 7} 0| 5347t go| B & (- BD = AD)

AABD = /BAD = /B

AADC & o|5HAZ ol BR (- AD = CD)

(DAC = /DCA = /C

/B:/C=2:3o /BAD:/CAD=2:3

2 2
D:— °© = — ° — ®©
/BA 2+3><90 5><90 36




12.

the 199 AN H 0 = AC ¢ FHY o, x o) 2712

>

T 7B

ol

@® 32° @ 35° ® 38° @ 42° ® 45°

2741719 ) Mwle] 7890 4 0 & 914lo] 2 OB = OA =

/AOB = 180° — /COB = 110°
AAOB £ o] 5RIdZIgo|B 2 (- OA = OB)
/OAB = /OBA = 35°




13. oS T3 2o] /A — 90°, AB — AC 9l Azt SHA7H ABC
7} 9ich. AB = DB &1 A D & A|1hv] AC 9} his 48 E 21 8

o, /x o] 27|12

C
D
E
Al—y B
® 60° @ 62.5° @ 65° @®)67.5° ® 70°

B \

AABC 7} o] Rz ol B R
/ABC = 45°

AABE = ADBE (RHS &
(ABC € o]s&3tt}.

oft
>
O
fru
>
&
[
&
o
H
3
rr

(EBD = 45° X — = 22.5°

N —

ADBE ©]|A4]
wLx =90° - 22.5° = 67.5°




14. o3 2989 AABC oAl /B 9] £]Zt9] o] 541t «C 9] 2719 o]
EBM0 wAS P gty 5k, /BAC = 80° ¥ W], /BPC 2] 37]&2?

O 45° @)50° ® 55° @ 60° ® 65°




15. o2 134 PA = PB, £AOB = 72° ¥ o], zx o] 275 F5}oiat.

@ 50° @ 52° @54° @ 56° © 58°

B )

APAO &} APBO oA
1) £A =/B=90°

i),ii),iii) o 28] APAO = APBO(RHSE-5) ot
TR gs4Y 7= goER

/AOP = /BOP = 36°

o Zx = 90° - 36° = 54°

b
offt
i




